
Activities - modal verbs 

 

Handout 1 

 

Write the correct option in the column on the right. In some cases, both are possible: 

 

 

 
 
 

1. both 
 

2. mustn’t 
 

3. has to 
 

4. should  
 

5. must  
 

6. don’t have to 
 
 

7. had to 
 
 

8. shouldn’t 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

Handout 2 

 

Complete with the correct form of the verb in brackets: 

 

 

 
 

1. …. 
 
 

2. …. 
 

3. …. 
 

4. … 
 
 

5. …. 
 

6. …. 
 

7. ... 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

Handout 3 

 

Write the correct option in the column on the right. In some cases, both are possible: 

 

 

 
 

1. …. 
 
 

2. …. 
 

3. …. 
 
 

4. …. 
 

5. …. 
 

6. …. 
 

7. … 
 

8. …. 
 

9. …. 
 

10. …. 
 
 

 

 

 

 

 

 

 

 

 

 

 

 



 

Handout 4 

 

Complete with the correct form of be able to (+,-,?) 

 

 

 
 

1. …. 
 

2. …. 
 

3. …. 
4. ….. you ….. 

 
5. ….. 
6. ….. 

 
7. …. 

 
8. ….. 

 
9. …… you ……. 

 
10. ….. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Handout 5 

 

Rewrite the bold sentences using must / might (not) / can’t + have + verb: 

 

 

 
 
 
 

1. She …. 
 

2. Ben …. 
 

3. Sam and Ginny …. 
 

4. You …. 
 

5. John …. 
 

6. Lucy …. 
 

7. Alex …. 
 
 

8. They … 
 
 

9. You … 
 

10. It …. 

 

 

 

 

 

 

 

 

 

 

 

 

 



Handout 6  

 

Respond to the first sentence using should / shouldn’t have  or ought / oughtn’t to have 

+ a verb in the list:  

 

 

 

 
 
 
 
 
 
 

1. …… 
 

2. ….. 
 

3. …. 
 

4. ……. 
 
 
 
 

5. …… 
 
 

6. ….. 
 
 

7. ….. 

 

 


